Work covered in lesson on Thursday 10 April as well as homework for Tuesday 15 April
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Class Test 7 on Products and Factorising (Grouping):

1. Simplify:

a) (-2 2:x—1)=. @AM 2 b)  -(3x-4p==(3o-OBoc-l ).
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2. Factorise:
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ACTIVITY 14.

Grouping (3+1) :
How to recognize “3 + 1“ grouping:
Factorise the following:

x2—2x+1-y?

= (-1 -y
=x-1-y)(x-1+y)

x* — 4x + 4 — 9y?

= (x —2)? —9y?
=(x—-2-3y)(x—2+3y)
x? —8x + 16 — 4y?

= (x —4)? — 4y?
=(x—4-2y)(x—4+2y)

a) b)

(]

d)

x? —y? —14x + 49
=x?—14x + 49 — y?
=(x—-7)% -y

=x—-7-Vx—-7+y)

g)

d) x2—16x+64—-y?=
g = Cm—@jg'
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Trinomial (which is a perfect square) and Perfect square separated by

= (a-b){ 508~ ]

L L;c-g>=K
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9x? — 6x + 1 —y?
=(Bx—-1)?—-y?
=Bx—-1-y)3x—1+Yy)

25x% - 10x + 1- 16y?
= (5x — 2)? — 16y?
= (5x—1—-4y)(5x — 1 + 4y)

x> —16y? —10x + 25

= x? — 10x + 25 — 16y?

= (x —5)? — 16y*
=(x—=5—4y)(x —4+4y)

49x% - 100y? - 14x + 1
= 49x% — 14x + 1 — 100y?
= (7x — 1)? — 100y?

(7x —1—-10y)(7x — 1+ 10y)



Class Test 8 on Products and Factorising (All Grouping):

1. Simplify:

a) (x-3)(3x—1) =3x2-10x+3

b) -(5x+2)2=-(25x2+20x +4) =-25x2-20x-4

c) 1-(e+1)(x?-x+1)=1-(3-x?+x+xX2—-x+1)=1-xX3+x?-x-x2+x—-1=-13

2. Factorise

a) 3x=3y-qgr+qy = 3(x-y)-alx-y) = (x-p)(3-9)

b) 49a? - 7a + 6b — 36b? = 49a2- 36b2 — 7a + 6b = (7a-6b)(7a+6b) - (7a-6b) = (7a-6b)(7a+6b-1)

c) 100x?a — 100bx?*—a + b =100x2(a —b) - (a—b) = (a-b)(100x2 — 1) = (a-b)(10x-1){10x+1)

d) Pox+y=1P = - -x+y= (X +xp +)7) - (x—y) = (xp) X +xp +)? - 1)
e) x2 —y*—14x+49 _[3and1lnot2and2] =x2 —14x +49 —)? = (x-7)(x-7) —y?* = (x-7)? — y? = (x-7-p)(x-7+y)



